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1. The figures show four types of houses,

Which is the correct sequence of development?
(A P5Q,R BIRQPS C'R Q3P QPSR

Mr. X stands on the field and sees his shadow falls towards the east. What is the position of the
Sun at the moment?
{A) East (B) West (C) North (D) South

‘Which set of pictures show s what happens to a plass of salt water when it isleft out on a container
for several weelks?
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The diagram below shows the foot of a bird, What could be the function of the foot?

{A) For scratching the soil to find worms {B) For walking on the ground
{C) For gripping prey such as rats (D) For paddling in the water

Which of these shows arock with a mass of 20 prams?
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1. DMvya has five T-shirts shown below.

What fraction of Divya's Tshirts are white?

1 1 1 1
(A) 3 B = i) ry -

2,  Neha has 48 books in her desk. Nalini has 18 books in her desk.
Which number sentence can be used to find how many more books Neha has than Nalini?
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3. Mallika wants to put 12 stickers on her paper.
What is one way that she can put 12 stickers on her paper?
(A} 3 rows of 3 stidkers (B13 rows of 6 stickers {(C) 4 rows of 2 stickers (D) 4 rows of 3 stidkers

4. Which of the following statement is true?

(A) 21 % e less than S00 (B) 704 15 greater than 760 (C) 83615 greater than T36 (D) 525 15 less than 409
5. Thereare 4 tables. Ajay put & plateson easch table. What isthe total number of plates Ajay put on
the tables?
(A)2 B0 C118 (D) 24
1 2 3 4 5
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